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pAR=3: S 9,797 -25.2| 9,974 58| 0.98 — 24,6151 -31.2| 42,981 24.0( 0.57 —
EE 11,722 19.6| 10,162 1.9 1.15 — 29,438: 19.6| 40,516 -5.7| 0.73 —
23EE 13,660 16.5| 9,538: -6.1| 1.43; — 35,720 21.3| 37,816: -6.7| 0.94: —
ERE 15,441 13.0] 9,383 -1.6| 1.65 — 40,775 14.2| 37,541 -0.7| 1.09 —
25FEE 17,2951 12.0] 8,764 -6.6] 1.97% — 45,952 12.7| 35,103: -6.5| 1.31 —
24/1~ 3| 15,223 12.7| 10,082 -4.3| 1.51 1.52| 39,460: 19.2| 35,940: -4.8| 1.10 1.02
24/ 4 ~6| 14,821 21.1| 10,811 -0.5| 1.37 1.57| 39,288 21.6| 40,518 -1.8| 0.97 1.06
24/7 ~9| 15,503 15.1| 9,051 -0.9| 1.71 1.63] 40,439 18.9| 37,992: -0.9| 1.06 1.08
24/10~12| 15,013 9.6/ 8,003 -0.8| 1.88 1.66| 40,695 9.7 35, 871 0.4 1.13: 1.08
25/1~3| 16,426 7.91 9,667 -4.1| 1.70: 1.72| 42,679 8.2| 35,785 -0.4| 1.19: 1.12
25/4~6| 16,040: 8.2| 10,210 -5.6| 1.57: 1.81| 42,447 8.0| 38,712: -4.5] 1.10. 1.20
25/7 ~9| 17,058 10.0| 8,521: -5.9| 2.00: 1.92| 44,800 10.8| 35,770: -5.8| 1.25 1.27
25/10~12| 17,160: 14.3| 7,440 -7.0| 2.31. 2.03| 46,872: 15.2| 33,300 -7.2| 1.41 1.35
26/1~3| 18,922 15.2| 8,886 -8.1| 2.13: 2.16] 49,688 16.4| 32,631: -8.8| 1.52 1.43
254 8 | 14,801, 23.3| 12,563: -2.6| 1.18 1.58| 39,297 19.3| 40,466: -3.5| 0.97 1.05
5R8 | 15 180: 31.9] 10,673 8.6 1.42: 1.58] 39,418 26.0| 41,243: -0.1| 0.96; 1.06
68| 14,483 9.5 9,196: -6.9| 1.57 1.56] 39,150: 19.7| 39,844 -1.8| 0.98 1.07
78| 15 ,662: 25.8| 8,986 4.2 1.74: 1.65] 39,840 23.2| 38,886 0.1 1.02: 1.09
8H | 15,806, 16.0{ 8,808 -5.6| 1.79. 1.71| 40,654 19.9| 37,624 -1.4| 1.08 1.10
OR | 15 040: 4.8] 9,358 -1.0[ 1.61 1.54| 40,824 14.0| 37,466: -1.5| 1.09: 1.07
108 | 16,322: 15.8| 9,709: 3.9| 1.68: 1.63| 42,076 12.2| 37,966 0.3 1.11: 1.08
118 | 15,082 7.1 8,171 0.4/ 1.84: 1.65| 40,724 9.1| 36,502 1.0{ 1.12. 1.07
128 | 13,636: 5.4 6,124 -8.9| 2.23: 1.70| 39,284: 7.9| 33,145 -0.1| 1.19; 1.09
2541 A | 16,970: 10.8| 9,987 -2.5| 1.70: 1.71] 41,157 8.2| 34,291 0.2 1.20: 1.11
28 16,0900 4.9/ 9,261 -2.4] 1.74 1.70] 42,779: 7.4| 35,453 -0.3| 1.21 1.12
38| 16,218 7.91 9,752 -7.3| 1.66: 1.77| 44,6102 8.9 37,611 1.1 1.17i 1.14
25%£4 8| 16,316: 10.2| 12,387 -1.4| 1.32. 1.78| 42,887 9.1 39,335 -2.8| 1.09: 1.18
58| 15,923 4.9 9,779 -8.4| 1.63: 1.80]| 42,488 7.8] 39,196 -5.0{ 1.08 1.20
68| 15882 9.7/ 8,463 -8.0| 1.88 1.87| 41,966. 7.2| 37,604 -5.6| 1.12 1.22
7B | 17,440: 11.4| 8,806i -2.0[ 1.98 1.86| 43, 761 9.8| 36,679 -5.7| 1.19: 1.24
8H | 15944 0.9/ 7,930 -10.0[ 2.01: 1.88] 44,047 8.3| 35,170 -6.5 1.25 1.28
OR | 17,789: 18.3| 8,826; -5.7| 2.02. 2.01| 46,591: 14.1| 35,460 -5.4| 1.31 1.30
108 | 17,710: 8.5 8,970 -7.6| 1.97: 1.92| 46,641 10.8| 35,475 -6.6/ 1.31: 1.30
118 | 17,505 16.1| 7,309 -10.6| 2.39: 2.04]| 47,744: 17.2| 33,688 -7.7| 1.42 1.36
128 | 16,266: 19.3| 6,041 -1.4| 2.69 2.13| 46,231 17.7| 30,737: -7.3| 1.50: 1.39
2641 H | 19,618 15.6/ 9,520 -4.7| 2.06. 2.07| 48,181 17.1| 31,782 -7.3| 1.52 1.40
2A8 | 18,305 13.8| 8,459 -8.7| 2.16: 2.12| 49,508: 15.7| 32,402: -8.6| 1.53: 1.41
3A | 18,843 16.2| 8,679 -11.0| 2.17 2.31| 51,376: 16.5| 33,710 -10.4| 1.52 1.47
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005 %E 3,030 8.4 30.4 889 19.7| 444 3.5 2,046 12.0: 20.5| 10,152: 29.1: 23.6
22FE 3,245 7.1 31.9 795:-10.6/ 483 8.7] 1,981 -3.20 19.5] 9,310 -8.3 23.0
23EE 3,283 1.2| 34.4 789: -0.7| 519 7.4] 1,882 -5.0. 19.7| 8,783 -5.7 23.2
45 E 3,275, -0.3] 34.9 815: 3.2| 534 3.0 1,914 1.7 20.4| 8,785 0.0: 23.4
25 3,290 0.5 37.5 785 -3.6/ 545 2.0] 1,826 -4.6 20.8/ 8,326: -5.2 23.7
24/1~3 | 3,313 1.0 32.9 785 4.6/ 540 16.3] 1,936 -0.5 19.2| 8,159: -1.8 22.7
24/4~6 | 3,526 2.4] 32.6 819: 6.7/ 558 7.6] 2,406; 4.7, 22.3] 9,593 -0.3 23.7
24/7~9| 3,218 -0.5| 35.6 842 5.1 516 5.9] 1,772 1.20 19.6/ 8,925 -0.9: 23.5
24/10~12|| 3,1000 -1.4| 38.7 808: 0.4/ 509: -3.8] 1,589: 3.0: 19.9] 8,395 0.6 23.4
25/1~3| 3,256: -1.7| 33.7 789: 0.6/ 555 2.7 1,889 -2.4 19.5| 8,225 0.8 23.0
25/4~6| 3,613 2.5 35.4 841 2.7 571 2.3 2,324 -3.4 22.8] 9,462 -1.4 24.4
25/7~9| 3,162 -1.7| 37.1 824 -2.1| 525 1.8] 1,673: -5.6: 19.6| 8,513: -4.6: 23.8
25/10~12| 3,143 1.4 42.2 765 -5.2| 532 4.5] 1,494 -6.0. 20.1| 7,763: -7.5 23.3
26/1~3 | 3,240 -0.5] 36.5 709: -10.2| 553: -0.4] 1,815 -3.9: 20.4| 7,567 -8.0: 23.2
2054 B 3,523 3.0/ 28.0 738 2.2 560 6.1] 3,213 1.8 25.6/ 9,6500 -2.0: 23.8
5A 3,623: 10.9| 33.9 860 15.4| 588 25.6| 2,164} 21.4; 20.3| 9,759: 2.4 23.7
6 A 3, 431 =5. 7] 37.3 860: 2.9/ 526 —6.1] 1,842, -5.7; 20.0/ 9,371 -1.1. 23.5
7R 3, 362 3.9 37.4 874 8.8/ 523 12.5| 1,848 9.0: 20.6] 9,173: 0.8 23.6
8 A 3,036 1.7 34.5 850: 15.2( 477, 7.7] 1,648 -5.7 18.7| 8,834 -1.4 23.5
9A 3,255, -6.4| 34.8 801 -7.1| 547 -1.1| 1,821 0.6 19.5| 8,769 -2.2 23.4
10A8 3,510 5.2| 36.2 894: 7.1| 571 2.5 1,958 7.3 20.2| 8,87 0.5 23.3
1A 3, 141 -4.4| 38.4 826 -4.5| 529 -3.8| 1,615 3.9 19.8| 8,491 0.6 23.3
128 2,648 -5.7| 43.2 703 1.4, 427 -11.0] 1,194 -4.6 19.5] 7,836: 0.7 23.6
25% 1 A 2,664: -1.4| 26.7 675 1.5 475 13.6| 2,042: 0.3: 20.4| 8,118 1.6: 23.7
2A 3,083 -4.4] 33.3 778 1.0/ 508 -4.5] 1,695 -3.4 18.3] 8,076: 0.6 22.8
3A 4,020 0.1] 41.2 915: -0.4| 682 1.6] 1,930: -4.4 19.8] 8, 481 0.2 22.5
2544 8 3,835 8.9/ 31.0 861 16.7| 632 12.9| 3,264 1.6 26.4| 9,579: 0.7 24.4
5A 3,701 2.2| 31.8 878 2.1 557 -5.3| 2,0220 -6.6 20.7| 9,560} -2.0! 24.4
6 A 3,304; -3.7| 39.0 785 -8.7 524 -0.4] 1,686 -8.5 19.9] 9,248: -1.3 24.6
7R 3,411 1.5 38.7 870 -0.5| 545 4.2 1,802; -2.5 20.5| 8,812; -3.9. 24.0
8 A 2,8260 -6.9| 35.6 785 -7.6/ 466 -2.3] 1,556 -5.6 19.6| 8,405 -4.9 23.9
9A 3,249 -0.2| 36.8 818 2.1 564 3.1 1,660; -8.8 18.8| 8,321: -5.1: 23.5
10AR 3,493. -0.5| 38.9 845: -5.5| 566 -0.9] 1,861. -5.0: 20.7| 8,287 -6.4 23.4
1A 3,197 1.8| 43.7 801 -3.0[ 580: 9.6f 1,409: -12.8: 19.3| 7,826: -7.8: 23.2
128 2,739 3.4] 45.3 650! -7.5| 449 52| 1,213 1.6 20.1| 7,177° -8.4 23.3
2651 A 2,828 6.2 29.7 634: -6.1| 478 0.6 2,017. -1.2. 21.2| 7,468 -8.0: 23.5
2A 3,153 2.3| 31.3 719 -7.6/ 501 -1.4] 1,709 0.8 20.2| 7,508 -7.0 23.2
3A 3,7390 -7.0] 43.1 774:-15.4) 680 -0.3] 1,718 -11.0' 19.8] 7,724 -8.9 22.9
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